Subtracting Mixed Numbers

Name: Score:

Subtract these mixed numbers and answer in the lowest terms.

4= -2 = 55 -1+ =
54 - 3% - 65 - 3+ -
413 - 45 - 25 -
Se - 14 - 64 - 37= =
35 - 12 - 25 - 43 -
455 - 1y = 54 - 15s =
27 - 412 = 48 - 14 -
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Answers

Subtract these mixed numbers and answer in the lowest terms.

4 -2 = 145 55 - 1

s+ -3% - 2 65 -3+ = 3
die - 1o = 3 45 - 25 -
5o - 14— = 4% 65 - 375
321 = 240 25 - 43 = 24
45k - 14 = 25 54 - 115 = 3
675 - 275 = 4 813 - 4+ = 3
2L - 412 - 2L 48 -1+ = 3
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